
https://www.leads4pass.com/acp-cloud1.html
2024 Latest leads4pass ACP-CLOUD1 PDF and VCE dumps Download

 

 

 

ACP-CLOUD1Q&As

ACP Cloud Computing

Pass Alibaba ACP-CLOUD1 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/acp-cloud1.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Alibaba
Official Exam Center

 

 

ACP-CLOUD1 VCE Dumps | ACP-CLOUD1 Study Guide | ACP-CLOUD1 Braindumps                               1 / 6

https://www.leads4pass.com/acp-cloud1.html
https://www.leads4pass.com/acp-cloud1.html
https://www.leads4pass.com/acp-cloud1.html


https://www.leads4pass.com/acp-cloud1.html
2024 Latest leads4pass ACP-CLOUD1 PDF and VCE dumps Download

QUESTION 1

RDS accounts can be used to connect with the databases created on a given RDS instance. Each account can be
bound with multiple databases. Yet, the read/write permissions of each database can only be assigned to one RDS
account 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

For ECS and RDS instances under different Alibaba Cloud accounts but in the same region, which of the following
statements is NOT correct for migrating self-built MySQL databases (running on ECS) to RDS? 

A. The data can be imported via the Intranet 

B. The data cannot be migrated. 

C. The data can be imported via the public network. 

D. The data can be imported by running mysqldump. 

Correct Answer: D 

 

QUESTION 3

Which of the following scenarios can be done using Alibaba Cloud Express Connection? (Number of correct answers:
2) 

A. Intranet communication between VPCs and Smart Access Gateway in customers different branch offices 

B. Intranet communication between a VPC and servers in an external IDC 

C. Intranet communication between two VPCs in different accounts and different CIDR Blocks 

D. Intranet communication between two VPCs under the same account in the same region 

Correct Answer: AC 

 

QUESTION 4

OSS supports multi-part uploading for large files, namely dividing a large file into multiple parts and uploading them in
order. This function is suitable for scenarios such as uploading large files or uploading files with poor connectivity. 

After completing all the multi-part uploading tasks, if you forget to invoke the "Complete Multipart Upload" interface,
there will be fragment files left in OSS, occupying bucket storage space-To facilitate deleting those files, OSS provides
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the________function. 

A. OpenAPI batch deletion 

B. Online batch deletion 

C. Bucket clearing 

D. Fragment management 

Correct Answer: B 

 

QUESTION 5

After activating an Alibaba Cloud Elastic Compute Service (ECS) instance, you want to monitor the status of the ECS
instance via Alibaba Cloud console. Therefore: you must activate and purchase Alibaba Cloud CloudMonitor service to
meet this demand. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 6

Alibaba Cloud SLB can distribute user requests to backend ECS instances. These ECS instances must have the same
specification (CPU, Memory) 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 7

Many of Alibaba Cloud services provide highly reliable data storage capacity. For example, Object Storage Service
(OSS) promises that its data reliability is no less than 99 99999999%. This high data reliability is solely achieved by
RAID 0+1 redundancy technology. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 8
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To meet business requirements, a user requires that the backend server of an SLB instance include a primary ECS
instance and a secondary ECS instance. When the primary instance is working properly, the traffic is only forwarded to
the primary ECS, when the primary instance is down, traffic is switched to the standby instance. In this case, you can
create an active/standby server group on the backend of the SLB instance. 

Which kind of listener supports this feature? (Number of correct answers: 2) 

A. HTTPS 

B. HTTP 

C. UDP 

D. TCP 

Correct Answer: AC 

 

 

QUESTION 9

When using Alibaba Cloud SLB. you can set different weights for backend ECS instances The higher the weight of a
backend ECS instance the more load will be assigned to it An SLB instance has 5 ECS instances in the backend server
pool, all of which are healthy Among these 5 ECS instances, the weight of ecs_inst1 is set to 100. Which of the following
statements is correct? 

A. Based on request level parameters of external requests, all requests with a request level parameter of 100 will be
transferred to ecs_inst1 

B. Based on SLB\\'s working mechanism, approximately 20% of loads will be assigned to ecs_inst1 

C. We do not know the weight settings of the remaining 4 ECS instances, so we cannot tell what would happen 

D. 100% of loads will be assigned to ecs__inst1, and the remaining 4 ECS instances will stay idle 

Correct Answer: C 

 

QUESTION 10

Object Storage Service (OSS) supports access logging. A bucket owner can activate access logging for their buckets in
the OSS management console. When access logging is activated for bucket A, OSS automatically accesses the request
logs for this bucket (in hours) and generates and writes an object to the user-specified bucket B according to certain
naming rules. Which of the following statements is true for OSS logging? 

A. Buckets A and B can be separate buckets (or a single bucket) but they must belong to the same user 

B. Buckets A and B must be the same bucket. 

C. Buckets A and B can belong to different users. 

D. Buckets A and B must be different buckets. 

Correct Answer: A 
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QUESTION 11

Alibaba Cloud Object Storage Service (OSS) is a cloud storage service that features massive capacity, outstanding
security, low costs, and high reliability. In an OSS bucket, all elements are stored as________. 

A. Hashes 

B. Keys 

C. Objects 

D. Stubs 

Correct Answer: C 

Explanation: OSS does not use a hierarchical structure for objects, but instead uses a flat structure. All elements are
stored as objects in buckets. To use OSS in the same manner in which local file systems are used, you can configure
Cloud Storage Gateway (CSG). https://www.alibabacloud.com/help/doc-detail/31817.htm 

 

QUESTION 12

The backend server pool of an Alibaba Cloud SLB contains multiple ECS instances, which may have different service
capacities. To exploit the different service capacities of backend ECS instances, which of the following statements is
correct? 

A. Choose Weighted Round Robin mode to set higher weights to ECS instances with higher capacities The higher the
weight of the backend ECS instance the higher chance that the instance will receive requests. 

B. SLB cannot assign more requests to certain ECS instances. 

C. Choose Round-Robin model and ECS instances with higher capacities will surely be assigned with more requests. 

D. Choose Weighted Least-Connection mode, and ECS instances with higher capacities will surely be assigned with
more requests. 

Correct Answer: A 

 

QUESTION 13

A large enterprise wants to migrate the entire business system to Alibaba Cloud to save the overall IT procurement and
OandM costs From the security aspect, the company requires that 

1.

 Must support secured remote OandM because the administrator often takes business trips. 

2.

 Networks between subsystems should be isolated because subsystems are independently used by different
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departments 

Which of the followings should be used together to meet the company\\'s requirements? (Number of correct answers: 3) 

A. Enable the VPN on the bastion host (or directly use the VPN image on Alibaba Cloud Marketplace). The
administrator uses VPN encrypted communication during OandM. 

B. Build an independent ECS instance as the bastion host or remote logon and OandM, and authorize the bastion host
to access ECS instances running other subsystems. 

C. Use the security group function of the ECS instance, and respectively deploy ECS instances running different
subsystems to independent security groups. 

D. Create multiple ECS instances in the VPC to install subsystems of different departments- Allocate only Intranet IP
addresses to all ECS instances, and deploy them in the same security groups. 

Correct Answer: ABD 

 

 

QUESTION 14

If an administrator often needs to manage multiple ECS instances in an Alibaba Cloud VPC through the Internet. Which
of the following solutions can meet this need at low costs and without affecting system security. 

A. None of these answers are correct. 

B. Choose an ECS instance from VPC and make it as the bastion host And then, apply an EIP and bind it to this ECS
instance. After that the administrator can manage other ECS instances through this bastion host. 

C. Modify the VPC Security Group policy, to allow access from the Internet. 

D. Bind an EIP to each of the ECS instances, and Jog on to each of these ECS instances to manage them. 

Correct Answer: A 

 

 

QUESTION 15

Once ECS is created, you can\\'t change its private IP address anymore. 

A. True 

B. False 

Correct Answer: A 
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